1.1 - Systems of Equations
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5. Matt and Ming are selling fruit for a school fundraiser. Customers can buy small boxes of oranges and

large boxes of oranges. Matt sold 3 small boxes of oranges and 14 large boxes of oranges for a total of $203.
Ming sold 11 small boxes of oranges and 11 large boxes of oranges for a total of $220. Find the cost of one

small box and one large box of oranges.
S =Srall box 2s +/4L=203
L= Lacge box s+l L=220

6. The. senior classes at RHS and WFHS planned separate trips to New York City. The senior cl
rented and filled 1 van and 6 buses with 372 students. WFHS rented and filled 4 vans and 12 buses with 780
students. Each van and each bus carried the same number of students. How many students can a van carry?
v+€b=372
Yy +12h=F50
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How many students can a bus carry?
V=van
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